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16101512, 012 hour forecast for 53Kft Knapp_Ellrod Tl and winds (knots) -- NCEP GFS
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16101600, 024 hourwf%ecast for 53Kft an%p_Ellrod Tl and winds (knots) -- NCEP GFS
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16101606, 030 hour fo{gecast for 53Kft Knapp Ellrod Tl and w%ré%s (knots) -- NCEP GFS
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16101612, 036 hourwf%ecast for 53Kft an%p_Ellrod Tl and winds (knots) -- NCEP GFS
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16101618, 042 hour f%ecast for 53Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS 6o
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16101700, 048 hourwf%ecast for 53Kft an%p_Ellrod Tl and winds (knots) -- NCEP GFS 6o
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16101706, 054 hourwf%ecast for 53Kft an%p_Ellrod Tl and winds (knots) -- NCEP GFS
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16101712, 060 hour f%ecast for 53Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS 6o
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16101718, 066 hour fo[gecast for 53Kft Knapp Ellrod Tl and winds (knots) -- NCEP GFS

NE gt\um\kn__././mnmnmﬁ_w_
e uu_uu.LLUUJIL :”LUAULm_m_m,“;,m_m_ua_L.L__.
8  ------------------------------------------------------------- L r[//\r"o///
N s N\ N\
N LA DD
. 5 AN
SIS, GO L5 N L LA foief- /f\l__l\&\/] _______ 7

—10

(—20

» \,\/\/

ﬂm@\;ﬁ/‘\/\/\

0¢

0c¢

120
Turb value =7

140 160 180 —160



16101800, 072 hour fo(gecast for 53Kft an%p_Ellrod Tl and winds (knots) -- NCEP GFS
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16101806, 078 hourwf%ecast for 53Kft in%p_Ellrod Tl and winds (knots) -- NCEP GFS
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16101812, 084 hour fo[gecast for 53Kft an%p_Ellrod Tl and winds (knots) -- NCEP GFS
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16101818, 090 hourwf%ecast for 53Kft Knapp_EIIrod Tl and winds (knots) -- NCEP GFS
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16101900, 096 hourwf%ecast for 53Kft Knapp_EIIrod Tl and winds (knots) -- NCEP GFS
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16101906, 102 hour fo(gecast for 53Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS .
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16101912, 108 hour f%ecast for 53Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16101918, 114 hourwf%ecast for 53Kft Knapp_EIIrod Tl and winds (knots) -- NCEP GFS
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16102000, 120 hour fo[gecast for 53Kft Knapp Ellrod Tl and wmds (knots) NCEP GFS .
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